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YAR |  (RCYRIENEER] ~ B AhEEE0REYAM] ) 4.74
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(1BEXTA M)
W 1fEXA A
Lo | vem | eps | BES ) BIUIER | pmes | moves | welumsim
JELJ m m
A B c D=BxC AXD E=(A)+(f) | Dx(A—BE)2

Y1 0.910 2.00 0.910 1.82 1.66 5.64 40.75

Y1 0.910 2.00 0.910 1.82 1.66 5.64 40.75

Y1 0.910 4.00 0.910 3.64 3.31 5.64 81.51

Y1 0.910 4.00 0.910 3.64 3.31 5.64 81.51

Y5 4550 2.00 0.910 1.82 8.28 5.64 217

Y5 4550 2.00 0.910 1.82 8.28 5.64 2.17

Y6 5.460 4.00 0.910 3.64 19.87 5.64 0.12

Y7 6.370 4.00 0.910 3.64 23.19 5.64 1.93

Y7 6.370 4.00 1.365 5.46 34.78 5.64 2.89

Y9 8.190 2.00 0.910 1.82 14.91 5.64 11.82

Y9 8.190 4.00 1.365 5.46 4472 5.64 35.45

Y9 8.190 2.00 0.910 1.82 14.91 5.64 11.82
Y12| 10.920 2.00 0.910 1.82 19.87 5.64 50.70
Y13| 11.830 2.00 1.365 2.73 32.30 5.64 104.54
40.95 231.04 468.12

4 A 7\

NIERMEER | - #IF, FEEITEROM NELFET HEE. MHROBREROEHMN LREDT0LLDHRIITERELT
FELTWAIEERLTVET,

KEMARFIROEOHEICBVTIERSNEE A,
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(1Y A M)
WifEYAE
Lo | xmm | ompm | BES ) BIWIER | pmes | moxem | elumsim
JELJ m m
A B c D=BxC AXD E=(A)+(f) | Dx(A—BE)2

X1 0.000 2.00 0.910 1.82 0.00 3.97 28.70
X1 0.000 2.00 0.910 1.82 0.00 3.97 28.70
X1 0.000 4.00 0.910 3.64 0.00 3.97 57.40
X1 0.000 2.00 0.910 1.82 0.00 3.97 28.70
X1 0.000 2.00 0.910 1.82 0.00 3.97 28.70
X1 0.000 2.00 0.910 1.82 0.00 3.97 28.70
X1 0.000 2.00 0.910 1.82 0.00 3.97 28.70
X5 3.640 4.00 0.910 3.64 13.25 3.97 0.40
X5 3.640 2.00 0.910 1.82 6.62 3.97 0.20
X5 3.640 2.00 0.910 1.82 6.62 3.97 0.20
X9 7.280 4.00 1.820 7.28 53.00 3.97 79.72
X9 7.280 2.00 0.910 1.82 13.25 3.97 19.93
X9 7.280 4.00 0.910 3.64 26.50 3.97 39.86
X9 7.280 4.00 0.910 3.64 26.50 3.97 39.86
X9 7.280 2.00 0.910 1.82 13.25 3.97 19.93

40.04 159.00 429.67

A4 =] I\

NIERMEER | - #IF, FEEITEROM NELFET HEE. MHROBREROEHMN LREDT0LLDHRIITERELT
FELTWAIEERLTVET,

KEMARFIROEOHEICBVTIERSNEE A,
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E#3—FK ;000000
(2FEXA ) BIng  EREBHETE
W 2fEXT5 [
Lo | vem | eps | BES ) BIUIER | pmes | moves | welumsim
J.EL) m m
A B c D=BXC AXD E=(A)=+ ()| Dx(A—E)2
Y1 0910 2.00 0910 1.82 1.66 455 2411
Y1 0910 2.00 0910 1.82 1.66 455 2411
Y1 0910 2.00 0910 1.82 1.66 455 2411
Y1 0910 2.00 0910 1.82 1.66 455 2411
Y5 4550 2.00 0910 1.82 8.28 455 0.00
Y5 4550 2.00 0910 1.82 8.28 455 0.00
Y6 5.460 2.00 0910 1.82 9.94 455 1.51
Y6 5.460 2.00 0910 1.82 9.94 455 1.51
Y9 8.190 2.00 0910 1.82 14.91 4.55 2411
Y9 8.190 2.00 1.365 2.73 22.36 4.55 36.17
Y9 8.190 2.00 0910 1.82 14.91 4.55 2411
20.93 95.23 183.87
4 m] \

NIERMEER | - #IF, FEEITEROM NELFET HEE. MHROBREROEHMN LREDT0LLDHRIITERELT
FELTWAIEERLTVET,
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Lo | xmm | ompm | BES ) BIWIER | pmes | moxem | elumsim
ﬁb) m m
A B c D=BXGC AXD E=(m)+(4) | Dx(A—F)?2
X1 0.000 2.00 1.820 3.64 0.00 3.36 41.09
X1 0.000 2.00 0.910 1.82 0.00 3.36 20.55
X1 0.000 2.00 0.910 1.82 0.00 3.36 20.55
X1 0.000 2.00 0.910 1.82 0.00 3.36 20.55
X5 3.640 4.00 1.820 7.28 26.50 3.36 0.57
X9 7.280 2.00 0.910 1.82 13.25 3.36 27.97
X9 7.280 2.00 0.910 1.82 13.25 3.36 27.97
X9 7.280 2.00 0.910 1.82 13.25 3.36 27.97
X9 7.280 2.00 0.910 1.82 13.25 3.36 27.97
23.66 79.50 215.17
1 a 7\

NIERMEER | - #IF, FEEITEROM NELFET HEE. MHROBREROEHMN LREDT0LLDHRIITERELT
FELTWAIEERLTVET,
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E43—FK : 000000
EME EABHETISE

BJOvoRIREETER
[1BE&] [2FE]
i3 i RETE i3 i RETE
XE | (m) () i RE | () (m) () i
a 1.820 2185 3.9767000 k 1.820 1.820 3.3124000
b 2.730 1.000 2.7300000 | 1.820 3.640 6.6248000
c 2.730 1.820 4.9686000 m 1.820 1.820 3.3124000
d 4550 1.820 8.2810000 n 3.640 1.820 6.6248000
e 4550 0.455 2.0702500 o 3.640 3.640 13.2496000
f 5.460 3.185 17.3901000 b 3.640 1.820 6.6248000
g 5.460 1.820 9.9372000 q 1.820 1.820 3.3124000
h 2.730 1.820 4.9686000 r 1.820 3.640 6.6248000
i 2.730 3.640 9.9372000 s 1.820 1.820 3.3124000
i 2.730 1.820 4.9686000
Ba 0910 1.820 1.6562000| 01
Bb 0910 1.820 1.6562000|01
W52 xR EiE
B (| S a
£ |k++m) 13.25
X
T |(gtr+s) 13.25
2
% |(k+n+q) 13.25
Y
A |(m+p+s) 13.25
£ |(a+b+c) 11.68
X
T |(h+i+)+(Ba+Bb) X 0.4 21.20
1
% |(d+h) 13.25
Y
A |(ct+g+)+(Bb)x 0.4 20.54
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15 19 X2,Y9 1 2,844 105x%x105 105 OK 93.83 OK
15 20 X3,Y9 1 2,844 105x%x105 105 OK 93.83 OK
10 21 X5,Y9 1 2,844 105x%x105 105 OK 93.83 OK
15 22 X7,Y9 1 2,844 105x%x105 105 OK 93.83 OK
15 23 X8,Y9 1 2,844 105x%x105 105 OK 93.83 OK
15 24 X9,Y9 1 2,844 105x%x105 105 OK 93.83 OK
10 25 X1,Y8 1 2,844 105x%x105 105 OK 93.83 OK
15 26 X2,Y8 1 2,844 105x%x105 105 OK 93.83 OK
15 27 X3',Y8 1 2,844 105x%x105 105 OK 93.83 OK
15 28 X5,Y8 1 2,844 105x%x105 105 OK 93.83 OK
15 29 X9,Y8 1 2,844 105x%x105 105 OK 93.83 OK
10 30 X1,Y7 1 2,844 105x%x105 105 OK 93.83 OK
10 31 X2,Y7 1 2,844 105x%x105 105 OK 93.83 OK
15 32 X3 Y7 1 2,844 105x%x105 105 OK 93.83 OK
15 33 X4,Y7 1 2,844 105x%x105 105 OK 93.83 OK
15 34 X5,Y7 1 2,844 105x%x105 105 OK 93.83 OK
15 35 X6,Y7 1 2,844 105x%x105 105 OK 93.83 OK
15 36 X9,Y7 1 2,844 105x%x105 105 OK 93.83 OK
10 37 X1,Y6 1 2,844 105x%x105 105 OK 93.83 OK
15 38 X5,Y6 1 2,844 105x%x105 105 OK 93.83 OK
15 39 X6,Y6 1 2,844 105x%x105 105 OK 93.83 OK
15 40 X8,Y6 1 2,844 105x%x105 105 OK 93.83 OK
10 41 X9,Y6 1 2,844 105x%x105 105 OK 93.83 OK
10 42 X1,Y5 1 2,844 105x%x105 105 OK 93.83 OK
15 43 X2,Y5 1 2,844 105x%x105 105 OK 93.83 OK
15 44 X3,Y5 1 2,844 105x%x105 105 OK 93.83 OK
15 45 X5,Y5 1 2,844 105x%x105 105 OK 93.83 OK
10 46 X1,Y4 1 2,844 105x%x105 105 OK 93.83 OK
15 47 X5,Y4 1 2,844 105x%x105 105 OK 93.83 OK
15 48 X9,Y4 1 2,844 105x%x105 105 OK 93.83 OK
10 49 X1,Y3 1 2,844 105x%x105 105 OK 93.83 OK
15 50 X2,Y3 1 2,844 105x%x105 105 OK 93.83 OK
10 51 X9,Y3 1 2,844 105x%x105 105 OK 93.83 OK
15 52 X1,Y2 1 2,844 105x%x105 105 OK 93.83 OK
15 53 X5,Y2 1 2,844 105x%x105 105 OK 93.83 OK
15 54 X9,Y2 1 2,844 105x%x105 105 OK 93.83 OK
15 55 X1,Y1 1 2,844 105x%x105 105 OK 93.83 OK
15 56 X2,Y1 1 2,844 105x%x105 105 OK 93.83 OK
15 57 X4,Y1 1 2,844 105x%x105 105 OK 93.83 OK
15 58 X5,Y1 1 2,844 105x%x105 105 OK 93.83 OK
15 59 X6,Y1 1 2,844 105x%x105 105 OK 93.83 OK
15 60 X8,Y1 1 2,844 105x%x105 105 OK 93.83 OK
ZE‘ 2 X2,Y9 1 2,730 105x%x105 84 OK 90.07 OK
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2% 3 X3',Y9 1 2,730 105x%x105 84 OK 90.07 OK
2% 4 X5,Y9 1 2,730 105x%x105 84 OK 90.07 OK
2% 5 X6,Y9 1 2,730 105x%x105 84 OK 90.07 OK
28 6 X7,Y9 1 2,730 105x105 84 OK 90.07 OK
2% 7 X9,Y9 1 2,730 105x%x105 84 OK 90.07 OK
2% 8 X9,Y8 1 2,730 105x%x105 84 OK 90.07 OK
28 9 X1,Y7 1 2,730 105x 105 84 OK 90.07 OK
2% 10 X2,Y7 1 2,730 105x%x105 84 OK 90.07 OK
2% 11 X3 Y7 1 2,730 105x%x105 84 OK 90.07 OK
2% 12 X5,Y7 1 2,730 105x%x105 84 OK 90.07 OK
2% 13 X1,Y6 1 2,730 105x%x105 84 OK 90.07 OK
28 14 X2,Y6 1 2,730 105x%x105 84 OK 90.07 OK
2% 15 X3,Y6 1 2,730 105x%x105 84 OK 90.07 OK
2% 16 X4,Y6 1 2,730 105x%x105 84 OK 90.07 OK
28 17 X5,Y6 1 2,730 105x%x105 84 OK 90.07 OK
2% 18 X6,Y6 1 2,730 105x%x105 84 OK 90.07 OK
2% 19 X8,Y6 1 2,730 105x%x105 84 OK 90.07 OK
2% 20 X9,Y6 1 2,730 105x%x105 84 OK 90.07 OK
2% 21 X1,Y5 1 2,730 105x%x105 84 OK 90.07 OK
28 22 X2,Y5 1 2,730 105x%x105 84 OK 90.07 OK
2% 23 X3,Y5 1 2,730 105x%x105 84 OK 90.07 OK
2% 24 X4,Y5 1 2,730 105x%x105 84 OK 90.07 OK
28 25 X5,Y5 1 2,730 105x%x105 84 OK 90.07 OK
2% 26 X9,Y5 1 2,730 105x%x105 84 OK 90.07 OK
2% 27 X1,Y4 1 2,730 105x%x105 84 OK 90.07 OK
2% 28 X5,Y4 1 2,730 105x%x105 84 OK 90.07 OK
2% 29 X9,Y4 1 2,730 105x%x105 84 OK 90.07 OK
28 30 X1,Y2 1 2,730 105x%x105 84 OK 90.07 OK
2% 31 X5,Y2 1 2,730 105x%x105 84 OK 90.07 OK
2% 32 X9,Y2 1 2,730 105x%x105 84 OK 90.07 OK
28 34 X2,Y1 1 2,730 105x%x105 84 OK 90.07 OK
2% 35 X4,Y1 1 2,730 105x%x105 84 OK 90.07 OK
2% 36 X5,Y1 1 2,730 105x%x105 84 OK 90.07 OK
2% 37 X6,Y1 1 2,730 105x%x105 84 OK 90.07 OK
2% 38 X8,Y1 1 2,730 105x%x105 84 OK 90.07 OK
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1BECFE)| S AR | 14 X3,Y10’ 1 2,844| 105x 105 12.40 1.32 OK 93.83 OK
1fE(FE) NE 12 X8, Y11 1 2,844 | 105x 105 15.61 1.48 OK 93.83 OK

1] SLEIES | 48 X9,Y4 1 2,844| 105x% 105 5.14 2.02 OK 93.83 OK

15 W_‘E‘B 47 X5,Y4 1 2,844| 105x% 105 6.87 4.03 OK 93.83 OK

20 SLEEB | 29 X9,Y4 1 2,730 105x% 105 13.78 2.43 OK 90.07 OK

2[% Sk 28 X5,Y4 1 2,730 105x% 105 17.28 3.93 OK 90.07 OK
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